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The ACA step 2 amount for an accounting liability is reduced or adjusted in
SOMe circumstances = sections 705-70, 705-75, 705-80 and 705-85, Income Tax Assessment
Act 1997 (ITAA 1997). This example shows how section 705-80 works in
conjunction with sections 705-70 and 705-75, using liabilities raised by accrued
employee leave entitlements to demonstrate the principle. The example also
shows how a reconstruction of the accounts required by section 705-80 may be
undertaken using an administrative shortcut where insufficient information is
available for an accurate reconstruction.

The second step in determining a joining entity’s ACA involves adding all of its
accounting liabilities, in accordance with accounting standards, or statements
of accounting concepts made by the Australian Accounting Standards Board,
at the joining time. > subsection 705-70(1)

If any parts of an accounting liability will give rise to a deduction to the head
company when discharged, the liability amount is reduced by the deduction
amount multiplied by the general company tax rate (except to the extent that
the liability amount has already been reduced because of the future tax benefit).
- subsection 705-75(1)

Where there is a timing difference between income tax provisions and
accounting standards in recognising a liability, a notional ACA calculation is
required - section 705-80. The notional ACA is calculated by assuming the
liability had been discharged for income tax purposes at the same time as it is
taken into account for accounting purposes. This may in turn require a
notional reconstruction of the joining entity’s accounting and tax positions for
the years in which the liability arose in order to align them. Under the
reconstruction there may be variations to the amounts at step 3 (undistributed
profits), step 5 (unused losses that have accrued to the group) and step 6
(unused losses that have not accrued to the group). Note that the variations to
these amounts are only for the purposes of this calculation.

The notional ACA is then compared with the first ACA which is calculated
without applying section 705-80. If:

notional ACA < first ACA: reduce the step 2 amount by the difference
notional ACA > first ACA: increase the step 2 amount by the difference
notional ACA = first ACA: no adjustment to step 2 amount is required

- section 705-80
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required?

The amounts calculated at each step of the first ACA calculation, other than
the step 2 amount, will remain as the relevant amounts for the final ACA
calculation.

An accrued employee entitlement such as long service leave is a liability of the
joining entity according to the accounting standards. For tax purposes, an
accrued employee leave entitlement is not deductible in the year it accrues. It
will be deductible by the head company when the liability is discharged.
Consequently, an adjustment under section 705-80 may be required where the
liabilities of a joining entity include such a provision.

The accounting liabilities to which section 705-80 applies need to be
disaggregated into each liability type. For example, where the joining entity’s
provision for employee benefits is an aggregate of long service leave and
annual leave entitlements, the provisions for long service leave and annual
leave must be disaggregated and recognised.

A notional reconstruction is required of the joining entity’s accounting and tax
positions for the years in which the liability arose in order to align them

> section 705-80. Note that there are circumstances where the notional
reconstruction will not change the position and therefore effectively does not
have to be undertaken.

The following table provides a guide as to the situations in which a notional
reconstruction of the joining entity’s tax position is required by section 705-80.

Table 1: Is a notional reconstruction of the tax position required?

Situation Reconstruction
required?

On formation, non-chosen subsidiary member where:

e there are no unrecouped accounting losses at the joining time
(i.e. retained profits are nil or above), and

e there are no unutilised tax losses at the joining time, and either:
e there are no notional unutilised tax losses* at the joining No
time arising from the alignment of the accounting and tax
positions required by section 705-80,
or

e there are unutilised notional tax losses* arising from the Yes
alignment of the accounting and tax positions required by
section 705-80.

Unrecouped accounting losses or unutilised tax losses exist at the Yes
joining time
Single entity joining a consolidated group (basic case) Yes

* Notional tax losses: In situations where a taxpayer is in accounting profit, notional tax losses

arising from the alignment of the accounting and tax positions will only occur where:

- there is a timing difference between income tax provisions and accounting standards in
recognising income, or

- the tax law allows deductions to be claimed at a greater rate than would be the case for
the same class of accounting expense (such as where accelerated depreciation or
concessions such as R&D have been claimed for tax purposes).

A comparison of the tax position disclosed in the income tax returns and the liabilities to

which section 705-80 applies will give an indication as to whether any notional tax

deductions for the liability would give rise to a notional tax loss.
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Examples

In many cases taxpayers may not have sufficient information available to
accurately reconstruct the tax position as required by section 705-80. Where
the historical information needed to establish the amount and timing of any
notional deduction is not available, the most reliable basis of estimation may be
used. > section 705-80.

To assist taxpayers to determine the amount of a notional deduction, and the
time or period to which it relates, the short cut method illustrated in the
decision flow chart in figure 1 provides a reasonable approximation of the
deduction allocation required by section 705-80.

However, you can only use the shortcut method in situations where you do not
have sufficient information on which to base a reliable estimate. If the short
cut method is not suitable for your circumstances and you would like to use
another approach you should contact the Tax Office for guidance.

The administrative short cut method is based on a concept of materiality under
which an immaterial amount is deemed to relate to the immediate prior year.

Materiality thresholds

An amount for the total of the section 705-80 affected liabilities is material if it
exceeds the greater of $5 million or 5% of the ACA as initially calculated. An
amount for an individual liability is material if it exceeds the greater of

$1 million or 1% of the initial ACA.

Examples 1 to 3 demonstrate how section 705-80 applies to the ACA
calculation, while examples 4 and 5 demonstrate the notional reconstruction:

Example 1 shows how section 705-80 applies to the ACA calculation for a
joining entity that has a tax loss. A notional reconstruction for the year
immediately before consolidation is required because the joining entity has
unutilised tax losses at the joining time.

Example 2 shows how section 705-80 applies to the ACA calculation for a
joining entity that has accounting profits. A reconstruction is not necessary
because the joining entity is in an accounting and tax profit situation at the
joining time and on the application of section 705-80 the notional tax
deductions for the provisions would not give rise to a notional tax loss.

Example 3 shows how section 705-80 applies to the ACA calculation for a
joining entity that has been incrementally acquired and has tax losses. In this
example, a notional reconstruction is required for more than one year before
consolidation occurs, as the joining entity has unutilised tax losses at the
joining time.

Example 4 demonstrates the notional reconstruction process where reasonably
accurate information is available.

Example 5 demonstrates the notional reconstruction where only limited
information is available and the notional deductions are determined using the
administrative short cut method described in figure 1.

I C2-4-245 page 3 I Worked example

C2: Assets

Current at 3 December 2003



705-80 deduction allocation short cut

on

flow chart for sect

Decision

Figure 1

‘Al ulyoow }soo-ybiy

-DJj|N JO-8UO UO SWIDD AJUDLDM

10} apiaoid o} dn jas uoisiaoid b 68
wiajl [IDNPIAIPUI UD SD Joj paplaoid
aq Algogouid pjnom uoisiaoid

JO adAj S|yl "swayl oly1oads o) a4pjal
{oU} J0j paplaoid salIDI| JBYo

JO SuoIsiAOId 81D SWaJ| JING-UON ...
SWID|O AjUDUDM |DIeush

pup sjyeuaq aaAo|dwa SNOLIDA

Joj suoisiaoid sepnjoul “jJupoyubis
A@AID9)|0D 21D YDIYM Sway|
|DNPIAIPUI SNOJBWINU JO dn 8poW 810
}DU} SjUBWISJDYS | DIDUDULY &Y} Ul 10}
papiaoid SUOISIAOCI B1D SW3Y| YING 4s
*$9550| puD SsuIPB

abupyoxa ublaio) o} Bulyplal asoy}
JO uoydadxa ay} Yjm suoisiaoid

[0 8pNoul sayligoy PasOq-UOKIAOL]

108A Joud

ajpIpPawWW| O} 8}P20||I
JUNOWID |DUSPWIWI UD O}
SOONPAaI JUNOWID UBYM
*$9|DS [DNUUD UO Paspq

IpaA joud

ajpIPaWW| 0} B}P0||D
‘JUNOWID |pUSPWIWI
uD O} S8ONPAI JUNOWD

pouad Ajuplpm 1eAo [T
ool oid ‘awily Buuiof
a2y} woy yooq Bupjiom
‘asimIayiO “IpaA Joud
ajpIpawwW| Ul asiuboosl
|[oUB}OW JOU JUNOWD Ji
‘adA} AjupLDM YO0 104

"AHIIqol Y4 Jo pousd sy} JoA0
‘SpIopupys Buljunoop JBpun

$9550|/suIp b asiubooal ‘ewl}
Buuiolay} woy Yopq BuIOM

USUM "I0eA yooe 1094 Joud ajpIpawWI O}
104 Aiqo}| UIDLSDSD O} 2}D20|D ‘JUNOWID [OLS}OWIWI
awly mc_c_nw»._ mo_cao_moEmw ®®>M_an_ UD O} S8ONPSI JUNOWD USUM
wko*wM 108 esn wE_m ujuo] pyoJ oid *SPIOPUD}S BUUNOIDD
ulasiubooay 8y} woy 3ooq BuIOMm ‘1004 pod §| Jepun pasiubooal
/ ‘awl} Buuiof junowp ay} o} BulpiodoD
al0jeq I0aA 2020 |p ‘@wl} Buuiof
ou soA ul asjubooay By} Woly 3o0q BUIOM
1084 pod J1pyo) / ) .
0ld “awi} Buuiof oD ” \
2l0jaq I0ak wun oEw_ o.”:m_cn. soh
ul esiuboosy — Wetlonmis ou *159} Ajjpuapw
JVETIVETITTUE] A0 /\ 8y} pup UoKLIO|IO
9AD3| [PNUUY ao1m9s BUOT 1oy sisoq aypudoiddo
s|ouapW up Aiddp aley paIaa0d
sjunown jou uoisiaoid Jo sedA} 104
%_m__»_o_m VOV (DUl 8Y} JO % | 1O
pouad uo | o_o. .m_o_ ) w($ Jo Joypaib By} sPeeXd
pasoq sadAy sedA} juew Ut Sy 11 [oUS4OW S Ao
AJUDLDM %_Ecw ojul [PNPIAIPUI UD IO} JUNOWD
oju1 dn yooug - N A0eIg = UV "VOV [PHIUl BU} JO %G 1O
AJuDLIOM Sjuswiajua wg$ 40 Joyoalb By} speaoxe
10} Uojs|A0Id 93hojdwsy {4l jousipwi st ssiyIgo
suoisinosd Pa}oa}0 08-G0/'S 8Y} JO
[oNPIAIPUI [04O} 8Y} 10} JUNowId Uy
Oful s3940
dn joa.g - pjol oid SN
WSWaY Ing *aSWIBY JoaA pod §|
JINg-uoN ‘awll} Buuiof
al0jeq
/\ 1094 ayy ul Buiyjou
asiubooay °oa
sso|/uipb *SOUIIqDY|
abupyoxa paspq ﬂ %
ubjaio4 -UoIS|A0Lg ou ou
1 1
< ¢JIPueiow se|ddp
SoUIOI| O e0/ s
Awiapy | P e sok —  wumoy
1O SSDIO soh 0 E:os,u seyIqoy Aup
ay} ysiiapis
Ut Usliqois3 1010} 8U} S| aisy} aly

Worked example

Current at 3 December 2003

Consolidation Reference Manual

C2: Assets

|
page 4

| C2-4245




Example 1
Facts ACo is incorporated on 1 July 2004 with $200 cash by HCo.

Table 1: Financial position at 1 July 2004 ($)

Cash 200 Capital 200
200 200

During the financial year ending 30 June 2005, ACo makes a tax loss of $100
and a provision for annual leave of $100. The deferred tax asset includes $30
from the tax loss as well as $30 from the provision for annual leave.

Table 2: Financial position at 30 June 2005 ($)

Cash 100 Capital 200

Deferred tax asset 60 Retained earnings (140)
Provision

— Annual leave 100

160 160

On 1 July 2005, HCo forms a consolidated group with ACo as a subsidiary
member.

Calculation First ACA calculation

The provision for annual leave is a liability according to the accounting
standards and it is not deductible for income tax purposes in the year it
accrues. Therefore, as a subsection 705-70(1) liability, only its net cost to the
group is recognised at step 2 of the ACA calculation - subsection 705-75(1):

Step 1 Add amount paid by HCo to incorporate ACo  $200

Step 2 Add amount accrued for annual leave ($100) — $70
subsection 705-70(1), less $30, the future tax
deductible amount — subsection 705-75(1)

Steps 3 & 4 Nil
Step 5 Subtract unused tax losses ($100)
Steps 6 & 7 Nil
First ACA W
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Notional ACA calculation (section 705-80)

Section 705-80 requires a notional ACA calculation based on the assumption
that the employment leave entitlement is tax deductible in the same financial
year as it is accrued. Accordingly, ACo is taken to have made a tax loss of $200
and the notional ACA calculation is as follows:

Step 1 Add amount paid by HCo to incorporate ACo  $200

Step 2 Add amount accrued for annual leave — $100
subsection 705-70(1)

Steps 3 & 4 Nil

Step 5 Subtract unused tax losses plus $100 for the ($200)

accrued employee leave entitlement (as if it
were deductible for income tax purposes)

Steps 6 & 7 Nil

Notional ACA $100

Final ACA calculation

As the notional ACA is less than the first ACA, the difference of $70 is
subtracted from the step 2 amount of the first ACA calculation ($70)

> section 705-80. The step 2 amount after this adjustment is therefore nil, with
the final ACA calculated as follows:

Step 1 Add amount paid by HCo to incorporate ACo $200

Step 2 Add amount accrued for annual leave ($100) — Nil
subsection 705-70(1), less $30 for future tax
deductible amount — subsection 705-75(1).
Then subtract $70 (section 705-80 adjustment)

Steps 3 & 4 Nil
Step 5 Subtract unused tax losses ($100)
Steps 6 & 7 Nil
Final ACA W

Allocation of the final ACA

The final ACA is allocated to the retained cost base assets (cash of $100). The
deferred tax asset for the provision for annual leave ($30) is an excluded asset
under subsection 705-35(2). There is no excess or shortfall in the ACA.
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Example 2
Facts BCo isincorporated by HCo on 1 July 2004 with $200 cash.

Table 3: Financial position at 1 July 2004 ($)

Cash 200 Capital 200
200 200

During the financial year ending 30 June 2005, BCo’s taxable income is $200
and it makes a provision for annual leave of $100.

Table 4: Financial position at 30 June 2005 ($)

Cash 400 Capital 200

Deferred tax asset 30 Retained earnings 70
Provisions

— Income tax 60

- Annual leave 100

430 430

On 1 July 2005, HCo forms a consolidated group with BCo as a subsidiary
member.

First ACA calculation

The provision for annual leave is a liability according to the accounting
standards and it is not deductible for income tax purposes in the year it
accrues. Therefore, as a subsection 705-70(1) liability, only its net cost to the
group is recognised at step 2 of the ACA calculation > section 705-75(1):

Step 1 Add amount paid by HCo to incorporate BCo  $200

Step 2 Add amount accrued for annual leave ($100) —  $130
subsection 705-70(1), less $30 for future tax
deductible amount — subsection 705-75(1).
Then add amount for provision for income
tax ($60) — subsection 705-70(1)

Step 3 Add amount of undistributed frankable $70
profits

Steps 3Ato 7 Nil

First ACA $400
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Notional ACA calculation

Section 705-80 requires a notional ACA calculation based on the assumption
that the accrued employment leave entitlements are tax deductible in the same
financial year as they are accrued. Accordingly, BCo’s taxable income would be
$100 and therefore the provision for income tax would be $30. The amounts
for the other liability (provision for annual leave) and profit would remain
unchanged. The notional ACA calculation is as follows:

Step 1 Add amount paid by HCo to incorporate BCo  $200

Step 2 Add amount accrued for annual leave ($100) $130
and the provision for income tax ($30) —
subsection 705-70(1)

Step 3 Add amount of undistributed frankable $70
profits

Steps 3Ato 7 Nil

Notional ACA $400

Final ACA and its allocation

The first ACA and the notional ACA are both $400. In this situation, no
adjustment to the step 2 amount is required under section 705-80, and
therefore the final ACA amount is also $400.

The final ACA is allocated to the retained cost base asset (cash of $400). The
deferred tax asset is an excluded asset under subsection 705-35(2). There is no
excess or shortfall in the ACA.
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Example 3

Facts On 1 July 2004, CCo is incorporated with $300 cash. On the same day, HCo
purchases 60% of CCo for $180.

Table 5: Financial position at 1 July 2004 ($)

Cash 300 Capital 300
300 300

During the financial year ending 30 June 2005, CCo incurs a tax loss of $100
and makes a provision of $100 for annual leave. The deferred tax asset includes
$30 from the tax loss and $30 from the provision for annual leave.

Table 6: Financial position at 30 June 2005 ($)

Cash 200 Capital 300

Deferred tax asset 60 Retained earnings (140)
Provisions

- Annual leave 100

260 260

On 1 July, 2005, HCo purchases the remaining 40% of CCo for $64.

During the financial year ending 30 June 2006, CCo again incurs a tax loss of
$100 and makes a provision for long service leave of $100. The deferred tax
asset again includes $30 from the tax loss and $30 from the provision for long
service leave.

Table 7: Financial position at 30 June 2006 ($)

Cash 100 Capital 300

Deferred tax asset 120 Retained earnings (280)
Provisions

- Annual leave 100

- Long service leave 100

220 220

On 1 July 2006, HCo forms a consolidated group with CCo as a subsidiary
member.

Worked example
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First ACA calculation

The provisions for annual leave and long service leave are liabilities according
to the accounting standards and they are not deductible for income tax

purposes in the year they accrue. Therefore, as subsection 705-70(1) liabilities,
only their net cost to the group is recognised at step 2 of the ACA calculation

- subsection 705-75(1):

Step 1 Add amount paid by HCo for membership $244
interests in CCo ($180 for 60% and $64 for
40%)
Step 2 Add the provision for annual leave ($100) and ~ $140
long service leave ($100), less the future tax
deductible amount of $60
Steps 3 & 4 Nil
Step 5 Subtract unused owned tax losses: i.e., 60% of  ($160)

the $100 tax loss in the first year plus 100% of
the $100 tax loss in the second year

Step 6 Subtract acquired tax losses multiplied by the ($12)
company tax rate: i.e., 40% of the $100 tax
loss from the first year multiplied by 30%

Step 7 Nil

First ACA $212

Notional ACA calculation

Section 705-80 requires a notional ACA calculation based on the assumption
that the accrued employment leave entitlements are tax deductible in the same
financial year as they accrue. In HCo’s situation, its financial position for both
years require a notional reconstruction so that a notional ACA can be
calculated. Accordingly, the $100 annual leave accrued in the first year would
be taken to be tax deductible in that year. This is added to the actual tax loss of
$100 to give a notional tax loss for the first year of $200. Similarly, the $100
long service leave that accrued in the second year would be taken to be tax
deductible in the second year resulting in a notional tax loss for the second year
of $200.

Consolidation Reference Manual
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The notional ACA calculation is as follows:

Step 1 Add amount paid by HCo for membership
interests in CCo ($180 for 60% and $64 for
40%)

Step 2 Add amount accrued for annual leave ($100)
and long service leave ($100) — subsection
705-70(1)

Steps 3 & 4

Step 5 Subtract the notional unused owned tax
losses: i.e., 60% of the $200 tax loss in the
first year plus 100% of the $200 tax loss in the
second year

Step 6 Subtract notional acquired tax losses
multiplied by the company tax rate: i.e., 40%
of the $200 tax losses from the first year
multiplied by 30%

Step 7

Notional ACA

Final ACA calculation

$244

$200

Nil

$320

$24

Nil

$100

As the notional ACA is less than the first ACA, the difference of $112 is
subtracted from the step 2 amount of the first ACA calculation ($140) > section
705-80. The step 2 amount after this adjustment is therefore $28, and the final
ACA calculation is as follows:

Step 1
Step 2

Steps 3to 4

Step 5

Step 6

Step 7
Final ACA

Consolidation Reference Manual

Add amount paid by HCo to incorporate CCo

Add amount accrued for annual leave ($100)
and long service leave ($100) — subsection
705-70(1), less $60, the future tax deductible
amount — subsection 705-75(1), and $112, the
section 705-80 reduction

Subtract unused owned tax losses: i.e., 60% of
the $100 tax loss in the first year plus 100% of
the $100 tax loss in the second year

Subtract acquired tax losses multiplied by the
company tax rate: i.e., 40% of the $100 tax
loss from the first year multiplied by 30%
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$244
$28

Nil

($160)

$12

Nil

$100
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Allocation of the final ACA

The final ACA is allocated to the retained cost base asset (cash of $100). The
deferred tax assets for the annual leave ($30), the long service leave ($30) and
for the unused tax losses ($60) are excluded assets under subsection 705-35(2).
There is no excess or shortfall in the ACA.

Company A is incorporated on 1 July 2000 with capital of $100 million. During
the year it acquires land for $100 million, receives income of $100 million
(taxable income $100 million) and makes provision for long service leave of
$50 million and tax of $30 million.

Table 8: Financial position at 30 June 2001 ($m)
Cash 100 Capital 100
Land 100 Retained earnings 35
Deferred tax asset 15 Provisions
- Long service leave 50
—Income tax 30
215 215

During the year ending 30 June 2002, company A pays the 2001 income year
tax of $30 million, receives income of $100 million, incurs costs of $30 million
for long service leave (taxable income $70 million) and makes provision for
long service leave of $50 million and tax of $21 million.

Table 9: Financial position at 30 June 2002 ($m)
Cash 140 Capital 100
Land 100 Retained earnings 70
Deferred tax asset 21 Provisions
- Long service leave 70
- Tax 21
261 261

During the year ending 30 June 2003, company A pays the 2002 income year
tax of $21 million, receives income of $100 million (taxable income $100
million) and makes provision for long service leave of $50 million and tax of
$30 million.
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Table 10: Financial position at 30 June 2003 ($m)

Cash 219 Capital 100

Land 100 Retained earnings 105
Deferred tax asset 36 Provisions

—long service leave 120

- Tax 30

355 355

During the year ending 30 June 2004, company A pays the 2003 income year
tax of $30 million, receives income of $100 million (taxable income $100
million) and makes provision for long service leave of $50 million, tax of $30
million and annual leave of $50 million.

Table 11: Financial position at 30 June 2004 ($m)

Cash 289 Capital 100

Land 100 Retained earnings 105
Deferred tax asset 66 Provisions

- long service leave 170

- Tax 30

- Annual leave 50

455 455

Company A joins a consolidated group on 1 July 2004. Its section 705-80
affected liabilities can be allocated as follows:

Provision for annual leave

The liability arising from the provision for annual leave relates to the year
ending 30 June 2004. While this is clearly the case in this example, it may also
be reasonable to assume that the vast majority of employees would take their
annual leave on an annual basis. Therefore, such an allocation provides a
reasonable approximation of the deduction allocation. However, if information
is available that can provide a more reliable basis of allocation that basis must
be used.

Consolidation Reference Manual
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Facts

Provision for long service leave

Company A has in its accounts made provision for an amount of $50 million
per year for long service leave. In this instance, a first in, first out approach
would be an appropriate basis of allocation as it would result in a reasonable
approximation of the deduction allocation. The provision balance of

$170 million for long service leave at 30 June 2004 would therefore be
allocated as follows:

Year ending 30 June 2004  $50m
Year ending 30 June 2003  $50m
Year ending 30 June 2002  $50m
Year ending 30 June 2001 $20m

Again, if information is available that can provide a more reliable basis of
allocation, that basis must be used.

Using the same financial data as in example 4, assume that the only records
that company A had, or could obtain, are its statement of financial position for
the year ending 30 June 2004 and income tax data obtained from the ATO.
This example shows how in these circumstances company A might reconstruct
its tax position for the purposes of section 705-80 using the administrative
shortcut.

The initial ACA is calculated as follows:

Step 1 $100m
Step 2 $184m
Step 3 $105m
ACA $389m

For the purposes of the administrative shortcut, an amount for the total of the
section 705-80 liabilities is material if it exceeds the greater of $5 million or 5%
of the ACA as initially calculated.

As the total of company A’s section 705-80 affected liabilities ($220 million)
exceeds $19.45 million (5% of the ACA), it is a material amount and it is
necessary to establish the class of the liability.

The liabilities in this instance fall into the bulk items category and need to be
broken up into the entitlement types, i.e. annual leave entitlements of $50
million and long service leave entitlements of $170 million.

The annual leave entitlements can be reasonably allocated to the year ending
2004.

IC2_4_245 page 14 I Worked example
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As the total of the individual liability for long service leave ($170 million) is a
material amount (it exceeds the greater of $1 million or 1% of the initial ACA),
it is necessary to allocate the amount on an annual basis. The long service leave
can be allocated on the basis of employee demographics at each year end,
unless a more reliable basis is available, and the alignment of the accounting
and taxation positions required by section 705-80 should proceed on that basis.

Income Tax Assessment Act 1997, sections 705-35, 705-70, 705-75 and 705-80; as

amended by:

e New Business Tax System (Consolidation) Act (No. 1) 2002 (No. 68 of 2002),

Schedule 1

o New Business Tax system (Consolidation, \Value Shifting, Demergers and Other
Measures) Act 2002 (No. 90 of 2002), Schedule 2

Explanatory Memorandum to the New Business Tax System (Consolidation)

Bill (No. 1) 2002, paragraphs 5.65 to 5.74.

Revision history
Section C2-4-245 first published 28 May 2003.

Revisions are described below.

Date Amendment

Reason

3.12.03 Extra examples included to clarify the
operation of section 705-80 using
liabilities raised by accrued employee
leave entittements to demonstrate
the principle.

Administrative short cut provided for
notional reconstruction where limited
information is available.

Clarification.

Provided under
Commissioner’s administrative
powers
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